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1. Find the x value at which f(x) =csc2x is not continuous. (A)E (B)E (C)E (D)7

2t t 2t
2. Find the derivative of the function ofarcsin t*. (A) (B) (©)
V-1 V1-t* J1-¢*

D)=
1-¢

1 1
3. Find gy*at (0,2) for the equation of x =2In(y* —3).(A)0 (B)1 (C)g (D)—zf
o4

4. A cylindrical shell with thickness 0.2 ¢cm, height 40 c¢cm, and radius 5 cm. Use differential to

approximate the volume of the cylindrical shell. (A) 607 cm® (B) 707 cm? (C) 807 cm®

(D)907 cm’

X

5. Find the limit of lim

A @1 @0 O O)-e

. - . XTHR 1
6. Find the limit of lim=— = (A)1 (B)5 (O (D)3

x>0 x% —1

Inx*

7. Find the limit of lim

(A)0 (B)eo (C)1 (D) none

3 -
X

) & w4l | o 2 e
H = ol
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1
Evaluate I(’%ff —2)dt . (A)1 (B)i: (C)-2 (D)—4
-1

2
Evaluate j(%ml)dr.(A)O (B)l ©)2 (D)3
X 2

1

1
. (M1 B)5 ()2 (D)3

2
X
Evaluate |~
6[ N1+ 2x°

4z
Evaluate I\fl +tan® xdx (A) In( ﬁ +1) B)In( ﬁ ) (©)0 (D) In( m\/z..g__.)
0

s
Evaluate | ———rdx. (A)ﬁ~~«-~ (B)\/E—— (C)J_/z—— (D)——
0 (1-x%)72

tan® 4x

Solve the indefinite integral of Isecé 4xtan dxdx . (A) +C (B)tan®4x+C

&
(Csec®dx+C (D) sec244x +C

Find the volume of the solid formed by revolving the region bounded by the graphs

8 2
ofy=4x—x>, y=4,and x=0 about the y-axis. (A)w (B)—” (C)—f- (D)—

3
X 1

Find the area of the surface formed by revolving the graph of f(x) = v + P on the

X

47r 1l
interval [1, 2] about the x-axis. (A)— (B)—w (C)— (D)—

Find the radius of convergence of » alx" . (A)R=0 (B)R=1 (CO)R=2 (D)R=oo
n=0
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17. Consider the function given by f(x) = Z — . Find the intervals of convergence for f'(x).

n=i

A (-LD) B (-LITO[-1.1) M[-11]

18. Find a geometric power series for f(x)= ——5—2— , centered at 0.

(A)f (- é) "x (B)f (-3 (C)i (-3)" (D)f (—x)"

n={ n=0 2 u=0 5 n=0

9] 2 N
19.Find—alforw = ze ™ wherex = s—t,y=s+tandz = st .(A)e' (25 +1) (B)
s

e (st DO te T Dyte T (257 + 1)

20. Find the length of the arc from 8 = 0 to & = & for the cardioid » = f8) = 2 — 2cos 8. (A)4 (B)8

(C)16 (D)32

—_——

r=2~2cos 8




